Consolidation work 19 Second Level ***

1.  26.7 – 13.9 – 6

2.  33 x 300

3.  56/1000

4.  75% of 2816m

5.  4/7 of 749cm

6.  Write 9% as a fraction and a decimal.

7.  56ml = ____l?

8.  There are 3 brown eggs for every 2 white eggs. There are 15 brown eggs. How many white eggs?

9.  Simplify 90/120

10.  It costs 3 adults £83.28 for their tickets. How much for one ticket? 

11.  Round 456.67894 to three decimal places. 

12.  -3 – 7

13.  5y – 4 = 21

14.  Write the missing angle in this straight line: 124 degrees and ???

15.  What is 10 squared minus 6 squared? 

16.  What is the area of a rectangle with: length = 4.8cm and breadth = 6cm? 

17.  If the radius of a circle is 60cm, what is the diameter? 

18.  3345 + 4357

19.  What is 8716 minus 3679?

20.  Order from the smallest to the biggest: 3/4, 5/8, 0.25, 6/7, 48/100, 60%  
